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1. Choose the correct option from the following : 1x5=5

Ess fi$ ew{a q<t sh EwFr {tQEBs<r:

(n) The ability to work with others is 

-.
qFK E tE $In $R-< n<nB ?<e_r

O Interpersonal Skill

qfs<ifu-$ qFsl

(ii) OrganisationalSkill

{iaibR+ qs-sl

(iii) Initiative

E-cqllri

(izr) Perseverance

qffi{x

(b) Which of the following signs define a formula in a spreadsheet ?

EEs firt c+nd F<<ar{r esffi< {-q qB qr{s q{ ?

(i) + (it / 1ii) = (it) -
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Which menu option will you click on to insert shapes and images in

a presentation ?

cercTd-ct{-{ qtrc w1& vt+ fro ffiRE sR-dE x:fi *4"6 5t1-1v ffi +R<

qtfik t

O Format

Tar

Tools

go1.

Edit

q&E

Insert

td5l6

(d) \ r'hich of the following is not a parameter to describe an individual's

personality ?

sEs fiil< &E-{s c+l{tfi <l& eq{< <lBv <'fu <r< ql"rclft dEl' r

O Self-confidence

s.1e'fr{1l4
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(it Openness

Fsl

(lil) Neuroticism

F]\t6il16lEq:l

(itl Agreeableness

{ilE

@ Which of the following sentences is/are in passive voice ?

EEs ftTI C$-FI {srl{Si-C{F nfstsF ql(q z

O They are watching a movie.

(iil The clock was repaired by Raju.

(iii) He is sleeping in the room.

(it) My pet dog bit the postman.

2. State whether the following sentences are true or false : 1x5=5

qqE firt {s,lq{q sq a qsh fi.ft o<l:

(n) Apple Keynote is an example of presentation software.

Apple Keynote t<q,{Er cEcqq6{d qrtLT<< Err<q t
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(b) The ciefault alignment of numbers in a cell is left alignment'

sil 65-EE q(?$K ft.stt qi6q<F ?<q<l\i{'l(ql

(c) In the SMART technique for goal setting 'S' stands for 'Simple''

Esi fi{<q $R-tq <r+{< a"{t{6 (sMART) nq&rbrc's'< qd?qrq'

'Simple'.

(d) Individuals, who focus on developing solutions that benefit society'

are called agricultural enhePreneurs'

frr-f,{ <1fu-a cnlqs E"rfs sR-d{ q${d-{ ts-flqs rratrqlti frc cfr

rrcersTfrtsmtql c<f4qst

(e) Self-management is also referred to as 'self-control''

q<I{EI'r{l-s lslq-firE"t'1frs r+r<l < t

3. Write the full forms of the following: (auy four) 7x4=4

ss\o fi{IIFs "l'f {"|E ercFi Gt 3 (ffi 6tffit)

(n) CRM

(b) ISO

@ BPM

(d) KPO

@ ISP
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4. Answer the following questions briefly : (any ffue) 2x5=10

Eqs fi$ a{qTq< u1B-w fr.n ' 6fu1say "tfrtt)

(n) What are the fue stages of active listening ?

{fu Er<.K ?ryb-a q{r ft ft z

@) Name nny four time management applications and their uses.

frcote4r Frm bR{ cataezvt q{k$-ta{ r'tT \rr{, <K{< frq'tr

(c) What is business process outsourcing (BPO) ? List some services

offered by Indian BPO companies.

<r<-rinr q&{tqffii (R. A. q') {t6{ fr r vm6x R. fA. e' 6{eagfr,u
qTrK 

.cDKr ReR cqffi{q ft ft r

(d) \zVhat is an ERP system ? List nny ttuo ERP vendors.

Q. *fl<. fi. &cE{ sr$ Ftrq ? frTo,-dt fA?. qr<. f}i. Rrssr< ill fr?ll r

(e) List some ways by which we can reduce the amount of waste

generated.

qf<sft< q'R{q $n sR-fi{ qtfr c+rE <-<"i< "mrs'i E? "||C<l ?

(fl List four online educational market places where people can learn

about the market and different trading techniques.

,tffit \n-d-q-tr fi"H{l$ {q.K< qE fr<I qg c-Efs{$-m {qi<< R<cn qr+

Re{ 6&i rfi"rq Tqr6 ftftq "6q 1
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@) What is Payroll ? List the components of Payroii.

c'lf,<rq srs Ffr{ ? (4FlEt< Effiaq{cft ft t

5. Answer the following questions : (any ttoo)

(n) Explain tltee adv antages of using ERP software'

?. sr<. Fr. wtt^<< qcqt<< ffiDt$o <1?I1o<ll

(b) Explain ilrree limitations of using a BPO for non-core activities'

q-{q furrElq< ar< .lbl R. Ft. q< <K{<{ &Filfi$<qv.t <Il"rl Gll

@ What is a business Procurement policy ? Write the benefits of a well-

designed Procurement Process'

<tfiili @-{ ffi fr r qBt vl{ "rffis @{ dfufl< 1R<mgfr"nt

-x-

3x2=6
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